1.

General Knowledge
of Madhya Pradesh

Vallabh Bhawan in M.P. is—
(A) Governor's residence

(B} Chief Minister's residence
(C) Vidhan Sabha building
(D) Secretariat building

Dr. Babasaheb
Mational Institute
Science is situated at—

(A} Mhow  (B) Nagda
(C) Dhar (D} Patan

. When was Bhopal State merged

in the Indian union ?
(A) 1st April, 1948
(B) 1stJune, 1949
(C) 1st April, 1952
(D) 1st November, 1956

. Which of the following state does

not borders Madhya Pradesh 7
(A) Rajasthan

{B) Chhatisgarh

(C) Maharashtra

(D) Bihar

. At present, the total number of
divisions in Madhya Pradesh is—

(A) 8
(C) 10

(B) 9
(D) 11

. Which of the following districts is

a part of sagar division ?
(A) Raisen

{B) Marsinghpur

(C) Teekamgarh

(D) Vidisha

. Total Number of Rajya Sabha

seats from Madhya Pradesh is—

(A) 10 (B) 11
(C) 12 (D) 13

. Samir Dad is related to—
(A) Cricket (B) Hockey

(C) Wresiling (D) Table Tennis
. Tarun Bhaduri Award is related

to which of the following fields 7
(A) Journalism (B) Poetry
(C) Sports (D) Theatre

Ambedkar
of Social

10.

12.

13.

14.

15.

16.

17,

18.

18.

Who has been awarded Kaligas
Samman for year 2011 7

(A) Satish Gujral
(B) Manijit Bawa
(C) Anupam Kher
(D) Sonal Mansingh

. Rani Avanti Bai's tomb is situated

In—
(A) Mandu (B} Mandla
(C) Dhar (D) Khargone

State Bird of Madhya Pradeshis—

(A) Asian Paradise flycatcher
(Dudhraj)

(B) Lesser florican (Kharmor)
(C) Great Indian bustard (Son
Chiriya)

(D) Indian roller (Nilkantha)

Fari of Kanha Baba is held at—
(A} Bhojpur (B) Sodalpur
(C) Chitrakoot (D) Ratangarh

In which district Tansen's Tomb
is situated 7

(A) Jabalpur (B) Hewa

(C) Gwalior (D) Panna

Who constructed Chanderi Fort ?
(A) Kirtipal

(B) Aasa Ahir

(C) Suraj Sen

(0} Yashovarman

Sanjay MNational Park is in which
of the following district 7

(A) Sidhi (B) Umaria

(C) Satna (D) Shahdol

In  which district of Madhya
Pradesh is HKharbuja Mahal
located ?

(A) Guna {B) Shivpuri

(C) Dhar (DY Gwalior

Where is Tepa sammelan orga-
nized ?

(A) Datiya (B) Ujjain

(C) Bhopal (D) Betul

In which of the following national
parks george castle is situated ?

(A) Kanha (B) Bandhavgarh

(C) Sanjay (D) Madhav
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Waknan Lai Chaturvedi is known
by which of the following nick-
names ?

(A) Kathin Kavya Ka Pret
(B) Indian Shakespeare
(C) An Indian soul

(D) Modern Chankya

From area point of view, the

biggest district of Madhya
Pradesh is—
(A) Bhopal (B) Chhindwara

(C) Mandsaur (D) Jabalpur

Which of the following cities is
known as “city of lime" 7

(A) Mandla (B) Katni

(C) Damoh (D} Singrauli

Which of the following does not
merge in chambal river ?

(A) Kalisindh (B) Shipra

(C) Parbati (D} Tapti

Which of the following is known
as 'land of white loans’ ?

(A) Guna (B) Katni

(C) Hewa (D} Shahdol

As per the census 2011, the dis-
trict of Madhya Pradesh having
lowest population is—

{A) Umaria (B) Sheopur

(C) Dindori (D} Harda
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General Arithmetic

51. The simpleinterest on T 68,000 at
6% per annum for 4 years, is—

(A) T16,120 (B) 716,320

(C) T18,420 (D) 216,520
52. Cost price of an article is T 320

and it is sold for ¥ 400, profit per

cent, is—

(A) 25% (B) 26%

(C) 27% (D) 24%

53. The cost price of an article is
T 7.840. If it is sold at a profit of
7% then the selling price of the
article, is—

(A) 78,388-80 (B) 78,000

(C) 78,383-80 (D) %8,833-80

54. The sum of 5% + 6% + 73 + 8% 4+ g3
+10%, is—
(A) 2295 (B) 2425
(C) 2495 (D) 2925
55. The square root of (272)2 = (128)F,
i5—
(A) 256 (B) 200
(C) 240 (D) 144
343 \ 148
56. The value of (ﬁ) , is—
5 7
(A 17 B) ¢
7 7
(©) 37 ®) 19
57. If the radius of a sphere is
doubled, then it's wvolume
increases by—
(A) 2times (B) 3times
(C) 10times (D) Btimes



58. The area of a circle having cir-
cumference of 132 cm, is—

(A) 893 cm? (B) 116 cm®
(C) 5227 cm? (D) 1386 cm?2
S G
59, If 5ixTx: 125" then the value
of x, is—
(A) 1-25 (B} 15
(C) 2:5 (D) 2-25
80. The time in which ¥ 1,000

amounts to ¥ 1,331 at a com-
pound interestat 10% per annum,

Is—
(A) 2years (B) 3 years
(C) 4years (D) 5years

Computer Knowledge

61. In a relationship, repre-
sents max. number of records in
one entity that are linked to single
row in another entity.

{A) Degree (B) Link

(C) Cardinality (D) Domain
62, Choose the odd one out in rela-

tional algebra context—

(A) Selection (B) Join

(C) Reflection (D) Projection
63. Father and Son share ...........

type of Relationship.

(A) 1:1

(B) 1:M

(C} M:M

(D} Mone of the above
B4. DNS s ............

{A) Distributed hierarchial nam-

ing system

{B) The vertical naming system

(C} The horizontal naming system

(D} The client server system

65. Telnet is a service that runs—
(A) TV on net
(B) Remote Program
(C) Cable TV N/W
(0} TeleText

66. ............ is not an scripting lan-
guage.
(A) HTML  (B) XML
(C) Postscript (D) Javascript

67. |P address is currently —
(A) 4 bytes long
(B) 16 bytes long
(C) Unlimited
(D) Not assigned
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Internet uses ............ switching.
(A) Packet (B} Circuit

(C) Telephone (D) Telex

The tag used in HTML to link it
with another URL's is—

(A) <A> (B) =H=

(C) <U= (D) = L=

Which of the following is a private
IP address ?

(A) 12.0.0.1

(B) 168.172.19.39

(C) 172.15.14.36

(D) 192.168.24.43

Which of the following is not a
type of tab stop ?

(&) Bar (B) Decimal

(C) Point (D) Left

(&) Conceptual
(C) External

(B) Internal
{D) Physical

In the relational modes, cardi-
nality is termed as—

(A) Number of tuples

(B) Mumber of attributes

(C) Number of tables

(D) Mumber of constraints

A relational database developer
refers to a record as—

(&) acriteria (B) a relation
(C) a tuple (D an attribute
SET concept is used in—

(A) Network model

(B} Relational model

(C) Hierarchial model

(D) MNone of these

Which is the properties of
entities 7
(A) Groups (B) Table

(C) Aftribute (D) Switchboard

The translator which performs
macro expansion is called a—
(A} Macro Processor

(B) Macro-Pre-Processor

{C) Micro Processor

(D) Assembler

The translator for low level pro-
gramming language were termed

as—
(A) Assembler (B) Compiler
(C) Linker (D) Loader
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Symbolic names can be asso-
ciated with—

(A) Information

(BY Data or Instruction

(C) Operand

(0} Mnemonic operation

Which of the following is not a
fundamental process state ?

(A) Ready {B) Terminated
(C) Running (D} Queue

Foor response time is usually
caused by—

(A) Process busy

(B) High VO rates

(C) High Paging Rates

(D) Any of the above

Which of the following loader is

executed when a system is first
turned on or restarted ?

(A) Boot Loader

(B) Compile and Go Loader
(C) Boot Strap Loader

(D) Relating Loader

The number of processes com-
pleted per unit of time is known
as—

(A) Qutput (B} Throughput
(C) Efficiency (D) Capacity

In .........., data is transmitted in
the form of light pulse.

(A) Twisted pair cable

(B) Optical fibre

(C) Radio waves

(D) MNone of above

RAM chip was Invented by—

(A) Intel {B) Motorola
(C) IBM (D) Oracle

To access web, .......... program
is essential.

(A) Browser (B) Utility

(C) Boot {D) Firewall
Which format is best suited for
pictures ?

(A) .jpg (B) .avi

(C) .ppt (D) .doc

Einhexadecimal system is equi-
valent to—

(A) 10 (B) 12

(C) 14 (D) 15

The ........... key will launch the
start button.

(A) Esc {B) Shift

(C) Windows (D) Shortcut
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When Internet data leaves your
campus, it normally goes to a(n)
ceneeeen. DEfOrE moving towards its
destination.

(A) Internet Backbone

{B) Metwork Access Point

(C) Base Station

(D) Communication system
Amazon.com comes under the
model—

(A) B2B (B) B2C

(C) C2C (D) C2B

CLEAN is a ........... function in
MS-Excel.
(A) Text (B) Logical

(C) Financial (D) Lookup

In MS-Excel, ACCRINT is a
reeenrenens fUNCtioN,

(A) Financial
(B) Logical

(C) Text

(D) Mathematical

‘Pie’ option is available in ..........
menu of MS-Excel.

{A) Data (B) Format

(C) View (D) Insert

In M5-Power Point, Two content
option is available in......... menu.
(A) MNew slide (B) Animation
(C) View (D) Data
Thesaurus option is available in
eneneeens MENU OF MS-word.

(A) View (B) Heview

(C) Data (D) Home
Rotational delay time is also
known as—

(A) Seektime (B) Shift time
(C) Latency (D) Access time

Query languages comes under—
(A) Second generation

(B) Fourth generation

(C) Fifth generation

(D) None of these

The core language for A.l. is—
(A) LISP (B} Java

(C) V.B. (D) VGt
Multithread concept in a pro-
gramming language was deve-
loped in—

(A) 5GL (B) 3GL

(C) 1GL (D) 4 GL



	1
	2
	3
	4



